Precalculus Worksheet #3 Unit 6 Selected Solutions

Express each of the following complex numbers using trigonometric form. Express all angles in
radians in terms of 7, exact value please.

1. 4+43 i =|8(cos( F)+isin(F))

473
= \/42_'_(4\/?)2 0 = arctan %)
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0==1
r=8 3
Express each of the following complex numbers using standard form (exact values please).
3. 10(cos(m/6) + isin(n/6)) = a + bi
a=rcos® b=rsin0

r=10 0 =m/6
a=10 cos(%) = 53

b=10sin(%)=5

53 + 5i

Perform the indicated operations. Express your answers using trigonometric form (exact values
please).

5. [7(cos(n/4) + isin(rt/4))][5(cos(rt/3) + isin(t/3))] = 35(cos(7n/12) + i sin(7n/12))



